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Cruise of the SWAG Answers

Cruise of the Power Cruiser “SWAG”

Homework Answers
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Note: In this cruise, answers which are plus or minus two units from the stated answer are considered

1.

3.

6.

7.

8‘

acceptable.
L 44°42.6'N Lo 65°46.5'W
The List of Lights, Bu,oy.;;nd Fog Signals for the area

A, 274°
B. True course to steer 279°
T \'% M D C
279°  19°W 298° 2°W  300°
C. 74kn

L 44°44.0N Lo 65°59.0'W

A. Yes

B. The local VTM services, to advise them, you will be crossing the lane.

A. No

B. The current direction and speed may have changed.

Set 099°, drift 1.5 kn

Track 271°
True course to steer 273°

T \'% M D C
273° 19°W 292° 1°W  293°
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9. 45kn ‘

10. Distance; 15.0M; Elapsed time = 3h 20m
ETA at destination 1420

11. Visual bearings
GPS fix
LORAN fix

12. T A\ M D C
Hdg 273° 19°W  292° 1°W  293°
Brg#1 282° 19°W 301° 1°W  302°
Brg#2 202° 19°W 221° 1°W  222°

13. A white occulting light, period 6 seconds, 122 feet above datum, with a nominal range of 12 nm
14. A. Drift 1.5 kn, Distance = 1.5 x 150 = 3.8M

60

B. L 44°44.3'N Lo 66°34.3'W ‘

15. Yes—the nominal ranges are 12M and 18M, respectively

16. T A% M D C
Hdg 081° 19°W 100° 0° 100°
Brg#1 255° 19°W 274° 0° 274°
Brg#2 224° 19°W 243° 0° 243°

Fix: L 44° 48.2'N, Lo 66° 32.3'W N
17. A. Distance 32.4M; Elapsed time = 5h 24m
ETA 2208

B. T A\ M D C
040° 19°W 059° 4°W  063°

';f

18. The current would turn at 1700 approximately. This may affect the arrival time.

19. L 44°49.5'N, Lo 66°30.5'W
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| (’ 20. A. Track 040°; True course to steer 047°

T A\'% M D C
047° 19°W 066° 3°W  069°

B. 4.7kn

C. Distance 30.7M; Time 6h 3213 ETA 2332

21. The average is about 2/3 of the maximum current rate

22. No, slightly off course to port N

T v M D C
Hdg 047° 19°W 066° 3°W  069°
Brg#1 298° 19°W 317° 3°W  320°
Brg#2 346° 19°W 365° 3°W  008°

23. Variable current
Leeway effect
Erratic steering

(@

24, No, still off course to port

TH + RB = TB
047° + 221° = 268°
047° + 249° = 296°

25. L 45°07.3'N Lo 66°10.4'W

26. Distance 9.1M; Time 98m; SOG 5.6kn

27. Distance 7.8M; Time 1h 24m, ETA 2202

28. T \'% M D C
268° 19°W 287° 1°W  288°

29. Distance 6.8M; Time 54m; ETA 2132

30. The largest scale chart available.

1ST EDITION 1995
Rev 11/01

eSS B e e e e oo S 35015535 A S S|



Cruise of the SWAG Answers

Page 4 of 4

bney se Boj jo sepujewas sjejdwon
inoquey uyor 1S o0} asuesugy
1e Aonq Aemurey 105 BuipesH | 802z | v'ee 09| .€90 | Mo¥ | .650 | Mo6L| .O¥O M.£2€,99 NZ'8v.by| Xid| vvoL
W61 pues) yong jeasn uo o€VC | 0 | E¥Z | Mo6L| V22T chig| w9l
W61 jleL mojjems uo bl2 | 0 | ¥lZ | M6L| .SST LBig| vpoL
000k | o0 | .00L [ Mo6L| .L80 D BpH | tvol
ueloT ui swajqosd jeonosje uo
)iom pue ‘ssjeym 1oj }ooj] o) yug M.S°6€,99 NO'Sh.vy | Xid| vivL
WP [ %onQ 18215 U 022 | Mol | o122 | M.6L| 202 zcbig| vipi
W67 11eL mojjems uo
[ BUDjIOM Jou—UeIoT ul 9snj umojg o€0€ | Mol | oLOE | M.6L | o282 Lbig| vl
§Seduwiod .g6¢ S1D | 0cvt o862 | Mol | o262 | M6} | .£22
____ _ S19
W S7 DOS W1 &1 1d .660 19S c St 09 [ .62 | Mok | -€6C | Mo6F | o¥iC M.S81.99 N8Vv.yv | Xi3| 00LL
NVYHO1
W) 'L YOS sseduiod ,00¢ bulesis S'61 0'9 | 62 | Mol | €62 | M6k | VL2 M, 12199 NO'by.bv | x| 00LL
NVYHO1
W] ¢°2 YOS ssedwos ,00¢ buneslg §'82 0'9 | o#62 | Mok | -€62 | Mo6L | VL2 M.0°65.59 NOvb.bv | Ha| 0060
SSBUWod ,00¢ S1O 09 [ .00€ | MoC | -86C | Mo6F | .6Z2
S10
g€ 0'9 | 62 | Mol | €62 [ MoBL | VL2 MS'9P.S9 N9Cv.bv | d3aa| oezo
Aiesso2au §i saul om) asn vi3 81q paads o) a W A 1 apnubuo apmine uolea )y
s)Hieway -398qQ0
*HOLVDIAVN 71ASS3A - D01 X034
WHO4 501030

1ST EDITION 1995
Rev 2/02





